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Average Questions Overview

Average Questions have a good weightage in the Banking Exam and the type of question asked in Banking exam is
similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried to
elaborate the concept used in Average Questions.

Question

A shopkeeper has 1 dozen basket and each basket has some fruits. Which is as following - Basket 123456789 10 11
12 Fruits 25 35 50 55 46 42 43 51 24 16 25 32 Find what is the average quantity of the fruits in a basket?

Difficulty : Moder ate Average Time: 32 Seconds

Options :
1. 37

2. 35
3. 38
4. 40

5. 32

Solution

The correct answer is option 1 i.e. 37

Understanding | Application

Average = Sum of the total
fruits/Total number of basket

= (25 + 35 + 50 + 55 + 46 +
42+ 43 +51+24+16 +25
+32)/12

Tricks

= 444/12

=37
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= OG/\?Gi — 4

Hence

Average = 37
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